
PAGE 1/5

CHAISE LONGUE TRENZA
Let op:
"Om beschadiging te voorkomen; sleep het meubelstuk niet, maar til het op wanneer je het verplaatst."

Please note:
"To prevent potential damage, don't drag the piece of furniture but always lift it when moving."



PAGE 2/5

A             1 x M7x120

B             3 x M7x90

C            3 x M6x45

1

2

3

4 5 6

7

8

9

D            2 x M6x70

F             1 x M6x13

E             1 x M6x70

G             1 x M6x90

H             1 x M10x20x10

D

K                   2 x

I              5 x M6x80

J             1 x M6x16x1

L                   1 x



PAGE 3/5

1

2

6

5

1

B

C

3

2

4

I

I

I

A

B



PAGE 4/5
4

3

C

D

D

7

8

9



5
PAGE 5/5

E

H

G
F

J




